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15811100 |<wg - Uwwnuwpuwip <L Ug 260 X 37500
15811100 |<wg - {pugnuiu Q< Ug 260 4 37500
Ywpuwznn -puwluwl
1952100 _uuoheeprbunuluatt)_ a< Ha i ; e
nwgpwd Ywp- puwlwt Yurehg,
15511600 (gnpdwpwwihu) Q< lq 1919 % 1080
15511200 |Ywp-(gnpdwpwlwihl) q< (hunp 340 % 5700
15541100  |wwupp- Lnnh (gnpdwpuwlwiht) Q< [Te! 2000 % 500
wwuhp-hnjwunwlwu
15541300 | (qnpduwnwtiwipt) < la 480 . 20d
RRYwUbN- puwlywl Ywphg,
15512000 (gnpdwpwuwihu) QL Ug 800 % 2200
15551600  [dwéniu (gnpdwpwliwjht) Q< Ug 2. % 8000
15551900 |wwnwwnwy Q< hwwn 80 g 200
15111120 Jnwywph dhu thwhnly q< Ya 3350 k 11000
15111120 |hwyh dhu (Yndpwdhu) Q< Ug 1208 = 2200
03311112 |aniy Q< Ug 1900 = 1000
03142510 |ant (01 Ywpg) Q< hwwn 49,6 3 79000
03221110 |ququp : Q< Ug 177 % 3500
03221111 |unfu (qntju) Q< yq 168 ¢ 4000
15331139 ||nhYy Q< Ug 247,5 5 2500
15331170 |wwpnbin pwngp Q< ya 208 % 1000
03221124 [Jdwpniug Q< Ug 180 i 4000
15331168 |udpniy Q< Ug 125 : 2500
15331163 |[6wlunbin Q< Ug 200 % 4000
03221410 |jwnwdp Q< Ug 198 % 6000
15311100 [Jwpwnindhy 5-6ud q< Ug 168,3 ¢ 20000
03222128 |fuudnp Q<L Ug 168 A 6000
03222119 |uwppug < ug 500 % 1800
03222100  |pwuwu Q< Ug 500 i 1800
03222121 |dwunwphu Q< Ve 355 = 2500
03222139 |adbpnwy Q< fel 100 ; 1000
03222131 |Shpwu Q< ug 150 - 2000
03222132 |nting . Q< g 150 % 2000
03222135 |{luwnnn Q< Te 300 g 2000
15616000  |hunywdwdwn Q< Te} 500 4 3000
15623200  |uwhunwlwdwywp Q< ! 285 4 900
15851100 |dwlwpnu Q< ug W5 2 4000
15617000  |gnpbUwdwywn < Tfe} 240 % 2500




03211300 |pphud Q<L ug 340 5 4000
15619000 |hwwpwdwywp Q<L Ug 325 2 1500
03221113 |inph hwwnhy QL feh 735 5 3000
15331152 |upubin Qc Ug 505 i 1600
15331153 [nuwy Q< Vel 395 5 4000
03221117 |n|nn Q< ug 240 i 1600
15321300  [inihYy ubthwlwu hjnieny Q< Uag 1000 X 2000
15332291 |obid -dhpwuh Q< Ug 740 & 750
15332290  |obid-ntind q< Ug 320 > 750
15332290  |otid- ubipybidbhy Q< Uag 450 ¢ 750
15332230 |Unipwpw- pwih Q< ug 800 i 1000
15332230  |Unipugpw-hnuh Q< Ug 800 2 1000
15333100 -{iandwwn Q< Ug 700 ¥ 750
15331490  |wwphuwgyws Jwpniug LY4 La 400 X 2500
03211200  |Gghuwwnwagnpbiu 9c ua 550 5 1000
15331184 Rtijpniu (whwhq Unphq) QL La 3000 3 130
15421100  |abp Q< (huip 539 5 4500
15531100  |Ywpwg QL Ug 3060 ¢ 4500
15863200 |phy Q< ug 2600 2 150
03131100  |unip6 ul (hwwnhy Upwphyw) Q< Ug 2200 = 750
03131400  |ywywn (thnoh) Q< anp 1800 . 50
15872400  |wn Q< Ug 136,44 z 1200
15871256  |wnwgwd wnwbin pwngp (¢ingh) Q< Ug 1485 5 40
15871256  |wynip pwpdp Yupgh q< Ug 219 5 300
15331167  [jwlwsh fuwnp Q< Yuy 250 = 1500
15831000  |Cwpwpwywq Q< Ug 287 2t 6500
(rujwgpwpihp Ythu QL Ua 1000 2 1000
15821500 |fdfujwgpwpihe Jwih o< La 1500 ¥ 1000
15821500 |fdfujwgpwpihp wbskup, QL La 1500 ¥ 1000
15821500 |fFfujwglwpihpe wpwuhy q< ug 495 5 1000
15821500 |ffujwglwpihpe qupw 9< Tel 985 X 1000
15842110 |[ynudtinn -onynuinwywin Q< It 1215 * 200
03142100  |dbinp puwywu QL La 2925 x 1200
15332410 snp dhpg- uwinpwshn, < Lua 3000 v 3
15332410 snp dhpg- Shpwuwshp QL LUa 3000 < 3
03222113 |udhs Q< Ua 1800 E 5
1E1NrU3L
33661134 |3hynnn| 2ug N48 q< hwp 5.3 = 90000
33661139 |[<winwtiphnn 5ug N48 QL hwp 1155 : 82000
33691194 |Sph$uwght 5dg N 48 Q< hwp 5.3 i 70000
33691176  |Shatipghu wdwnyw 1dg N10 Q< upyjuy 17 5 9000
33691197 |Lundtiwpndwght 25dg N50 Qg hwp 25.71 5 25000
33661137 |Lnpwqbwywd 2 dg N24 < hwp 13,77 i 50000
33691195 [Uquitiywnpu 100dg N 50 Q< hwp 33 i 39000
33661136  |Hhwgbwwd 10dg N24 9< hwp 9.4 i 96000
33691176 | Udhuwght 2,5%, 2dq N10 Q< upyduwy 73 i 5300
33691176 |Unnhwbu-Tawyn 25 Ug NS QL upquly 970 = 1500
33661139 |<winwphy 14 N10 5dq QL upquy 91,49 - 24000
33661140 |Udhuwghu 25dq N20 Q< hwp 25 2 30000
33691176 | dhuwgbwwd 1da N24 G< hwp 8,3 : 17500
33661136  |Uphpwgnu 0,5% N10 5dq Q< upuwy 87 g 48000
33661139 |<winwhinhnn Malwunwn a< hwp 1,5 = 1000
33691176 |PJtinhwwhu-200dg N60O q< hwp 375 g 3000
33691176 |Ptiwnwdwpu 200dg N30 9< hwp 92,96 & 10000
33691196 |Mthuwbiphnnu  2dg N30 q< hwp 24 4 40000
33691196 | Nthuwjwluni 4 ug N60 G< hwp 75,65 . 5000
33661161 |Ojwuquuwht 10dg N30 QL hwp 168 i 6500
33691176 | thputinhu 20ug N1 a< hwp 213 . 1000
33691176 | 2njwpuw 10dg N28 LS hwp 405 3 4000
33661142  |33661116 Q< hwp 8 = 15000
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33691176 |Ddlwppu 100dg QL hwp 409 i 1500
33691225 |Phugnuw| 100ug QL hwp 19,1 7 1200
33661128 |Swppwdwgtiuht 200dg 9L hwp 10,5 = 50000
33661127 |Uuwight 50% QL upywy 34,5 A 500
33661127 |Uuwighu 0,5dq Q< hwp 5,7 i 600
33671130 . |Hpdbnpn 14 QL upquly 25 % 4000
33671130 |hdtinpn N10 Q<L hwp 6,3 i 3000
33661116 |Lhnnjuyhu 2% 20} N10 Q< upjwy 27 ® 350
33661116 |Lhnnlwihu 5% 154] G< annuohp 1500 X 15
336111770  |Lnp-Upthh 40dg 9L hwp 6,25 e 3000
33661170 | Unynlwjht 0,5% q< upyuy 21 = 300
33661122 | Mwpuwghnwdny 0,54g Q< hwp 42 i 2000
33691193 [Upwnhlwhu 4% 204 Q< 2h2 1440 s 20
33691136 ['Lwuwph pinn N10 < unyuly 138 - 600
33691138  [Syniynqu 400dq Q< upywy 36 5 500
33631310 | thindbuwy 25 dg, 34| Q<L upywy 77.5 : 500
33611350 |Uulynpphuwppent 5dg N10 Q< updwly 60 6 3500
33611350 |Uulnpppuwpent 2dq N10 9L upduly 48,96 : 3500
33611390 | Mhphnnpupt 50dg QL updwy 18 ¥ 2000
33611370 |fohwdhu 5% 14 50dq QL upquy 20 : 7000
33621240 | 3pwunynpwjwuiht 0,5dg N10 9L upquy 20 " 200
33611341 |Jdhwnwdhu B Yndwjtipu 9< unduwly 142,5 : 2000
33611341 |Jdhunwdhu C 500 dg N10 G< hwp 250 4 1000
33621230 |dnbwppent Sug G hwp 5.7 2 1800
33691176 | Lwuph pinp 0,9% 5004 QL thwpbip 132,78 T 3000
33691138 | Fyniynqus 5% 5004 Q<L thwptp 150 > 500
33691129 |Mthugkip 5004} Q<L thwphip 133,2 2 1000
33691176 | thpwgn 14 10dg Q< upyuy 26 > 970
33621510 |Ywwnuiphy 50dq Q<L hwp 10,5 % 4000
33691201 |Ywwywiuninh nglipnind 304 < oh2 156 ¥ 300
33621330 |Ynpnhwdhu 20% q< upjuy 112 > 1500
33621340 |4n$tihu 200dq < upyuy 42 5 5000
33691145 |Uwqutiginudh unyduwn 250dq a< upduwy 30.71 i 1000
33621540 | Nwwwybippu 20ug Q< upquly 30,55 2 400
33621590 |Dninnutidhn 10dg Q<L upyuwly 27,21 o 300
33621590 |dninnutidhn 40dg N40 QL hwp 3 : 1000
33661149 [ Hhwlywpp N10 L hwp 80 ¢ 500
33651118 |St$unphwlunt 1q a< upduy 127,71 * 500
33651111 |Udnpuwghipu 500dg Q<L hwp 42 £ 1400
33671126 |Ppndghiyupu 8dg Re hwp 3 : 1200
33691176 |ppnuypndtiu_N50 200dq q< hwp 6,5 : 500
33651131 |4nuinphunpuwqgn) 480dgq Q< hwp 10 2 1000
33661153 | Hauwdbnwgnu 4dg QL upqwy 60 i 300
33691236 |Unuypwunpu Q< hwp 66 : 420
33691236 |Unuypwunhl QL upjuy 272 £ 400
33611170 | pnunwytipht 20dq 9L upquly 53,4 2 350
33671114 |Enidpihu 24dg N30 Q< hwp 36,9 A 500
33671114 [Emidhihu N10 9< upyuwy 45 2 250
33691218 | Muwlwughu QL hwp 29 5 400
33671115 |Unu$nlwddnlwht 104 < updwly 62 3 100
33691186 | Mhpwgbuwd 200dg Q< upywy 39 2 1000
33691186 | Nhpwgtitnwd N10 9< hwp 37,26 £ 100
33691176 |Utipuhwwd 1004) e unduwly 240 . 700
33691227 _[Mtaghnnnt 18,9an a< thwpkip 270 - 200
33691731  |Udblwnw q< thwphp 190 E 200
33611100 |Odtiwpwagny 20dq QL hwp 13 S 2000
33691176 |Utighd-$npunti N 20 Q<L hwp 800 5 200
33611200 |Lnwbpwdhn 2dq Q< hwp 8,16 5 800
33691176 |Utiwnt 13,5dg N20 QL hwp 7.5 l 3000
33691176 |Phuwlwnbu punily 9< hwn 2000 2 10
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33691176 |Upuwnindhght 25dg punty hwn 500 : 70
33691176  |Lundhpn| punty < hwn 243 5 25
33691176 | Lwbphqpu 240 4] q< ywpng 240 5 50
33691136 |Uwihyhu 50 < Jwpeng 550 5 20
33631260 |3nn 5% 304] < hwn 233 . 300
33631288 | Mbpudtinnph) punty < hwn 1056 > 10
33621642 |3nnhun| 100d] < 2h2 350 - 200
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33141110 [Phuwn dwupbwgbipd 7d *14ud < hwwn 97 2 100
33141110 |Phuwn ns dwupbwqlipd 74 *14ud q<l hwwn 83 * 150
33141115 |Pwdpwly 100gn 9¢ Ug 230 : 500
33141156 |Qtinung ns unpphy N100 Q< hwwn 15 5 40000
33141112 -|Uwbinuuh wtuwlubpny 9e hww 6 " 500
33141112 |Wujtinuup pnph q< hwwn 113,33 : 700
33141129 [Hhdwl dhwuywg N50 Q<L hwwn 15 * 5000
33751100 |Swlnhp_ghobipwihu N16 Q< hwn 240 . 30000
33141211 [Ywuwgh dhownhp Q< huwn 21 & 1500
33141142 | Utipwplhs 104 QL hwwn 352 5 200
33141142 |Ubkipwnlhs 200 9< hwtn 7 5 200
33141142 | Lbipwnlhs 54 s hwn 15 : 300000
33141142 | Utipwplhs 34 Q< hwtn 15 i 300000
33141142 [ Lbipwplhs huunyhuh 504)-1004) R hwwn 100 . 1200
38411200 |Qbtpdwswth, ns uunhlwihu < hwwn 1250 : 100
33191520  |<wdwlwpg (cuctema) G< hwwn 45 i 1000
33141223 <nquwjh hwqwpwsdnt tnwuahy JGd ac hwtn 1220 * 20
33191250 |Ubgh wiwpuw (MOYenpromMHuK) < hwn 270 5 20
33141223 |Unipun (CyaHo) < huwwn 1789 ] 30
300 20

33141131 |Upniu Ytipgubiint dwuywybu (dgnun) Q< hwwn S
33141223 |Qtinwl (Tpenka) G< hwwn 1700 : 20
33141183 |Lwagn quutnpw) gnun Ubd Q< hwtn 1000 : 7
33141183 |Lwgn quuwpwy gnun dhohtu Q< hwwn 1000 i 1
33141211 |Qwuquip q< hwwn 1000 g 7
33131230 [Uwnwduwpnidwlwl hwjbih < hwtn 50 3 B}
33141193 [Snunwnihdbipwiht jwdy q< hwwn 2000 ' 1

Muwwtiputnpwinlunnn nnup 4000 )
33141193 |(ubpywgpydwu wubtinutin) 9< :

Snipphuwiht pnpshlutip 500
33141193 |(wyiwquiiht) q< i . .
33141193 |Updwwwihgph pnpshyubip Q< hwwn 300 : 10
33141193 |"thn Yhubint uwpp S hwn 500 5 50
33141193 [<wyuug < hwn 1000 z 10
33141193 | Snunwnihdbipwiht windp 9< hwwn 35000 5 1
33141193 | Stdbuwnwiht windp QL hwun 20000 5 1
33141193 [huplwlwpdpwgnn windp 9< hwn 12000 : 1
33141193 [Eunndbinwgnu (thgpwnipe) < hwwn 21000 : 1
33141193 Swyiph hwywpwsdnt (Eunnnnuwnhl) qc wnntth 3000 * 2
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33631140 |Uny$nuwihghjwpent e gpwd 5000 2 0,5

Syniynqu 4x100 /400 phiuwn, winu 5000 3
33211120 |ybnuwiniun winwinwnin a< #

ULS, Yhubwnhy, Gnwuwyny

npnpdwl phup hwywpwsdni,1x50 U] wnntth 6000 30
33211420 |50 gbuun q< -

UUS, Ghubnny, Gnwuwlnd

npnpdwl phup hwdwpwdnt,1x50 U nnih 6000 30
33211420 |50 phun Q< ’




Rhihnntpht, punhwnip b nipnuyh wnntth 6
phihnnphuh npnodwl pGuwn-
hwywpwdnt BILIRUBIN D+T 8000
33211140 190/1006[ 100 direct+100 total, 200 ac %
_|tun|uptiph 200 4, 200 pbuw, wnntth 2200 6
33211130 |y hnwnu wnwbnnin a< .
GPGWINNURUN Npn2Uwl feGutn-
hwywpwdnt, 2x100 4}, 200 phuw,
ubipwnyw) unwunwpu, nntth 1050 6
yninphdtinphy dwjpwytin W
33211160 Lhibidhl Shann a< :
{Upquiynye  2x100d|  Ubipwinju
" |unwnwpw, Yninphdbiphy, winuh 4680 12
33211170 %wmwubbuﬁ' Urg%g%o - Q< &
ng(hgtinhn 1x50U/50 pGuwn
- 0 5 24
33211180 [ubipwnjw) unwunwpn a< gasih e
dwlnidwyht thnpdwnpe gbiny
24
33191310 wmnlmwuann uwmwnhan Q< mnuh 5000 v
Udwnndwwn pwdutiynphsh
33111240 | swypwlywiubin 0-200 dly N100O a< pabi e : >
Unpjnit Jtipgutine Juynidwiht wubin
33141144 |21G 9< i e . +
Ugwnndwwn pwdubtiynphgh
1 12
33111240 | uynulyuulin 0-5000l; 500 a< s e .
33191310 dnpawlne, Pnnnuhhlwnwhu Ve wnnth 4700 3 48
Uhqupepent npnadwl phuwn
hwdwpwént Yninpndtinnphy wnntth 10560 16
33211170 |swinwltivn 50 phiun < p
CRP-lex, C-nEwlunhy uwhiwlnigh
npnodwl pehun-hwywpwsdnt, 100 wnnuth 6900 16
33211250  |phbuwn q< ¥
RF lex, Ntdwwnnhn $wlnnp- Lbpu,
33211240 |100ptuwn q¢ LA 6300 . ]
Gyniyndtiwnph Strips, UWynwstiyh-
33011008 luibnbasus, 9¢ R0 490 . 3
24321610  |Uwfuwnnquw q< Ua 2000 % 0;5
24321800  |Ugnwhpwd Q< Ug 4000 ¥ 6
Lhunuwpepdwjht Na, N3, C6, N3,
24311190 |07 qc Ug 4000 5 0,5
24311190  |{Na OH phdpwuwbiu dwpnip Q< Ua 6000 5 1
24321440  |[Pwquiuwppent 99,7 % Q< Ug 3000 : 2
24321650  |S4hghphu Q< Ug 2000 3 1
Utigh udniubip Ytpgubiint
33141173 | puiiwliin 100 9 g A8 . 2100
33141223 |COE-h whwbinutip Q< hwwn 100 s 50
38511340 |hudbipupnu jnin_upyduwl 1004 < hwwn 1000 4 2
Uwinhg wpyni Ytipgubint untiphy
1300 o 12
33141144 __|wubnutin (Wywphdhlwwnnp)N 200 a< ey -
33141223 [owdlwwwlh (14 x 14)N 100 < nnth 1500 5 24
33141223 | Snpwilih wywpwwh Swaluwuyuwyh q< wnuh 1000 g 2
33141223 [Uwipp htidndbwp Q< hwn 5000 : 1
38431710 |Ywpenghy wywnndwwn 0-1000 Q< hwwn 15000 i 1
38431710  [Ywpenghy wywnndwwn 0-500 Q< hwwn 15000 7 1
33141223 |Unwplwjwywu wwwyh NSO q< winuth 500 s 12
24451140 |Upwlwphi pinp hwp, < Iet 1 : 2000
24311530  |Qpuwduh wbipnpuhn 3% QL {hwp 400 i 6
24311530  |Qpwdup wbipnpuhry H202 33,3% q< [puip 4000 - 1
24451140  |Unydwlynu 1| jupwujni Q< hwn 7200 & 500
24451140  [Ujyngh) 330dq Q< huwtn 1000 s 1000
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24451140  |Uyngh 100dg hwun 320 5 4800
24451140 |<tipuhiny 0,12% QL thinp 2000 2 1
24321340  [Uwhpwn 96% pdoljwlwu Q< thup 1000 & 0,5
qrELULLUL MhSNh3LLER

39263200 |Gpwubljwywihu ghpp 200 pline a< hwwn 750 i 210
39263200 |Gpwubiywlwiht ghnp 100 phipe < hwtn 650 i 230

Spuubljwlwihu ghpp hwwn 4000 12
39263200 |ghlmawahnn 400 mhne = :

Gpwublywywihu ghpp ninntignptinh hwwn 700 12
30063200 | 5t SR 9¢ .

18 pwubitjwywht ghpp punniudwu hwwn 2500 12

39263200 l'lmjmnuh' a< g
39263200 |<ngtidtin nbnnpwiph  dwinjwl Q< hwwn 2500 3 70
39263200 |Undwwhy ntinnpwiph dwwnjwl q< huwin 2500 ¢ 70
39263200 |Jdhpwlwwh dwwnjwl q< hwn 2500 i 20
39263200 |pudptilighnt  Jwuinjwl a< hwn 2500 5 12
39263200 |Ogunipiwu Jwwnjwl < hwun 1800 ¥ 20

ZhJwunh hpdwunnugjwl hwwn 65 2810
30199340 | ,,yuindnieiwt hwnwahn a< =

<hywunh pdoulwl ogunijul U hwuwn 8,5 2000

wuwnyd

T I P e a< :

<nglipnidwlwt hwwn 8 2000

Yuqiwybpwniejniunwd wudh
30199340 hnpwyntuputinh hpwqbldwu pbnehYy ac %
30199340 |Qtipdnip|wu pEpERhY Q< hwwn 8 i 2000
30199340 |Uuaph punniudwu nhunid (A5) a< hwwn 4 * 2000

Zhywunnipjwl wywindnigjwl hwwn 8 2400
30199340 | $honily Q< x

Chippwwwh pdhoyh ninntighp (A4) hwwn 75 1200
30199340 Q< ¥
30197231 [Huwy A4 N 100 a< wnnh 990 : 100
39263531 |@nebph ubndwy 51dd, 12 hwwn q< wnntth 900 * 50
39263521 |(Inphtiph utindwl, 4144, 12 hwwn q< wnuth 750 = 50
39263521  |(Fnpbtph utindwl, 3244, 12 hwwn Q< nnth 450 : 30
39263521  (Inpbph ubindwy, 2544, 12 hwwn q< wntth 320 = 30

Opwp uwhwnwy (110*22044d) wntth 20 1000
30199232 |hyohwunutadnn 50huin < 5

Opuwp uwyhwnwy A4 (210%2974d) wninuh 40 1000
30199232 |pyowunutitiunn 50hunn a< i

Opwp uwhwnwl A5 (115*22504) nntth 30 1000
30199230 |hypuwunutadnn 50 huin < :
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39831210 |Uwwup jJwlwint htinniy Q< thinp 1800 % 1600
33711480  |Qtinph ofwn Q< hwn 140 S 10000
39831245 |<hinnily ofwn Q< {hwp 2100 % 1600
39831247  |Upuwnwhuwuhs uinye dwyb Q< {hinp 124 % 1600
33761100  |[2niqupwuh pnine Q< hwn 80 2 10000
39831283 |<wwnwl Jwpnbint jwe q< hwtn 990 . 550
39831282 |Ubnwup Jwpnbint jwe < hwtn 120 2 700
39221490 |Uwniug q< hwtn 80 % 700
18141100  |Qbnung nuwbuwlwu Q< hwn 290 - 1600
19641000 |Unph wnwpwl hwebeny Q< hwn 450 z 504
39831280 |Uwuwlh dwppnn htinniy q< {hunp 350 § 312
39831240 |Ynnwn Lnininni dwpnbijnt hwdwp Qe thwp 400 2 200
39835000 |Cwuwwlh thuwyn Q< hwn 1350 £ 75
39836000 |uyh q< hwtn 1200 t 150
39839200 | Qnawpehwl (Uwdnl) q< hwin 350 : 30
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33711720 |Uwnwdh dwdniy hwtn 220 * 4440
33711710 |UWwnwidh funquiiwy a< hwwn 250 s 2000
39224331 | Cwwnwlp (Ywlwint nnuyj 5 Q< hwwn 560 5 60
39831273  |Uwihy dwppnn _htinnty q< thuinp 790 A 300
39831281 |Uwwyh Jwppbint jwp 9< hwn 340 5 50
33741600 [Gnniua Yunphs 9< hwin 500 3 60
33711340 [Uwihpdtijnt thpthnip < hwwn 500 - 180
33711320  |Uwup wwghbuwnutinh hwiwn a< hwtn 500 & 400
Utwugwdjw ognwgnpddwl hwwn 100 10000
33721100 |,5tuhubin X5 < ¢
33141114 [Qwugh$ (dunyuw) q< dhunp 400 : 20
39221120 [Yuwipundhih 6audhs G< hwin 1200 ¥ 3
“l&uwgh wwhywudwl wnwppwtip hwun 7500 24
39221170 ° ‘(111]11111|nhl‘1 Lwithwnhenul) q< -
39221260  {5woh wihuli b3 hwtn 1000 i 400
39221370 |chiplith < hwun 5000 3 24
39221170 [Cwqudwu < hwwn 1000 Z 400
utunauu3hrL MULUsULEr
Uuynnuwjht uwhwwytintup hwwn 3500 400
39511120 tﬂ?’fﬂ?ﬁ“quwh’pwnéh q< *
39514200  |8wipng uwwuph q< huwitn 280 ¥ 24
ELGUSPUSEhuLhuU
<knnwinwgnyg 124ud wulniuwghd hwwn 160000 10
32324900 q< i
39711140 [Uwnuwnpwl 85*60*55ud < hwin 70000 | 10
39711140 |Uwnuwpwu 1,60*60*55 ud a< hwuwn 120000 by 30
Uwgbipp Yuptnt blahunpwywu hwn 30000 12
397121008 |31 iino q< *
39711350  |Up6wnwg q< hwtn 400000 * 1
39711350 |Uuwnug a< hwin 300000 : 1
uN<uLN8h LULNh3L
Ubinwuutip Gwpwupwhh hwdwn 4- hwuwn 20000 120
39141300 |\ phning a4< 2
39111140 |Unnutin Swowupwhh hwdwn a< huwtn 6000 g 480
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